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« What do you mean by a single, finite wave packet —is it physical?
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« Do modes describe velocity? Acceleration? What’s the difference

between (1,1,1) mode and a situation where all three masses are
moving at the same velocity = 1?
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« Why are the eigenvectors the same for S & K but not the eigenvalues?

Suppose. S and S commute (ie. SK=KS).
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e Why if v is an eigenvector, is its conjugate an eigenvector too?
e Why is it valid to use (v+v*)/2 and (v-v*)/2 and expect them to be
eigenvectors too? (i.e. why are linear combos of eigenvectors also

eigenvectors?)
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« How do we actually know, mathematically, that the normal
modes are eigenvectors of the K matrix? Is that just how they
are defined? Why does this make sense physically?

UWhat & normal mode. means p hysical
ol mosees osullate with the sam

15 A mode in Which
e amplifude. So we want a

\ecior of ompliudes euch that o matie Lohich force equahon

we put into, we 3@ the. same Pregw,ncj .
F=ma

L9, , L%+ kO xn = m O;;U:
k%, ¢ Ve v v 1oV o0 = W’%\%

%

e wont on @ingecfor (
0,

> of K such that no matrer

which Brce equotion tee plbg in o (Whch row o the K mabix)

(l@

SUL the save Lacky of “rot Fom the dervabve on the
Al mesees cscllate with the same @e/ﬁuenc(ﬂ).

ng hr

« How is the resonance frequency of an entire system related to
the resonance frequency of the individual components (i.e.

pendulum’s resonance frequency)?
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« In a typical masses & springs problem, are the masses only affected by
their neighbors? Or do we have to consider all of them?
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« Why exactly are the coefficients in the Fourier series the “overlap” or

dot product — not why this works for the coefficients but how you can
actually take the dot product with an infinite sum.
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Extreme example. : E‘chhon
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